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MOCK-2

Directions(1-3) In each of the following
questions, a series is given, with one term
mising. Choose the correct alternative from the
given ones that will complete the series.

e (1-3) : Fimfefen 9wl ¥, uw e B g,
Tt us ug o 81 fou 7w faeul 1 @ a7 wd fawen

e St SR HL G B ?

1. P3C,R5ET81,V12L,?
(@) X17M () X170 () Y170 (d) X160

2. NPMKRTIG __? .
(@ UW  (b) FD (OEC  (d) VX

3. 13,10, 2 100, 1003, 1000, 10003.
(a)1030 () 1130 () 103 (d) 130

4. If55 + 66 and 22 + 99 =33, what is 44 +88 ?
afe 55 + 66 = 33 3T 22 +99= 33, 44+ 88 TN
B ?

(a) 36 (b) 38 (c) 40 (d) 33

5.  Which one of the following box can be created
by folding the given key design?
rer <t 18 YRea FETTg= ot UIgeht s | SifeRd ST T
HehaT g ?

Question Figure/¥9 3TT&(d :

Answer Figure/S™R &l :

B == -

(1) (2) (3) (4)

6. Three views of the same cube are given. All the
faces of the cube are numbered from 1 to 6.
select one figure which will result when the
cube is unfolded.

ek GUTH U4 o i ferst feu e &1 5 & et wetenl uv 1
A 6 T <t TTE &) U Teh SMMepfer I 1 O & Gier

W fewg
Question Figures / Wy 3ngfaaf :
3 3 4

o |9 119]] 3

Answer Figures / 3v¢ gfaal :

é
EG

e
(2)

Direction (7-10) : In the following question, select the related word
[ letters / number from the given alternative
9 (7-10) : FFfafen woii § Ry o famed € |
Wit I / 18R / W ®i i)

(4)

7. UMPIRE : GAME : : ?

(a) Legislator : election
(b) Moderator : debate
(c) Prodigy : wonder
(d) Chef : banquet

8. HCM:FAK: :SGD:?

(a) ESQ (b) GES () QEB (d) QIB
9. FILM: ADGH:: MILK: ?

(a) HDGE (b) HDGF (c) HEGF (d) ADGF
10. AHOP:CKSU::BJMF:?

(aA) DQKM (b) CIWA

(c0)EZUQ (d) DMQK

Directions (11) : In the following question, find the odd / word
number / letter / number pair from the given alternatives.

fdw (11) : iRu  fawedl © | fawm wig / wEm /
38R / wem g feu g

11. (a) CENT

(b) JLOS (c) MORV (d) CEHL
Directions (12-13) : In the following questions, a series is given,

with one term missing. Choose the correct alternatives from the
given ones.

%.(12-13) : =i a9t ﬁ’.@ argeed T §,
?ﬁ?@qﬁ@ﬁ%l feu T fasmedl § | a8 wdt fame
|

12. X,Q,K,F, 2

(@ C (b) D (©E (dB
13. 2,29,38,47, 2 .
(a) 52 (b) 58 (c) 59 (d) 56
14. A man travels 4 km due north, then travels 6

km due east and further travels 4 kms due
north. How far he is from the starting point ?



15.

Direction (16) :

e At 4 Tt St ST o et § fe 6 fom. Sten
qafﬁmm%aﬁTﬁamw ek ST H W 1 9 S0
T Tt | eheT g 872
(a) 8 km (b) 10 km (¢)6km (d) 14 km
Ram and Sam start walking towards North and
cover 20 metres. Ram turns to his left and Sam
to his right. After Sometime, Rain walks 10
metres, in the same direction in which he
turned. On the other hand, Sam walks only 7
metres. Later. Ram turns towards his left and
Sam. to his right. Both walk 25 metres
forward. How far is Ram from Sam now?

T 3T A SO fawm @t 2% =T 976 A € 2R 20
e &t gt 79 hId 21T WWE S ST R, 3R
{9 31U T 3N FB TS 91 T 74 o T or
ITH 10 TeX I §1 TEA ST AW Haet 7 Hie oot
197 B TH STUR ST 37 T W4T € 3117 40 I 3771 25
Hex AT g §1 T, T W feRat g 8 ?

(a) 17 metres (b) 5 metres

(¢) 10 metres (d) 20 metres

In the following question, from the given

alternatives select the word which can not be formed using letters
of the given word.

e (16) : Ffeiaa fawedl 8 | a8 i g s fign
T I & SN I TANT Hlh TRl SR ST Wbl

16.

17.

18.

19.

COURAGEOUS

(a) COURSE (b) GRACE

(c) SECURE (d) ARGUE

Ram cycled 10 km southward from his home,

turned right and cycled 6 km, turned right ,
cycled 10 km, turned left and cycled 15 km.
How many km will he have cycled to reach
straight home?

T 9 O BT W IfEror Skt 3T 10 T, wsferet orems

mg@msw HTEfeReT o, TU gt 10 Tom.
HTETheT oIeTTE, ITE GSas 15 TeRwt. TTgferet oetg | e
ﬁﬁwu@%%maﬁfaﬁ%w w|TsfeRet Tt

(a) 16 km (b) 20km (¢) 10km (d) 21km
Which of the following interchange of signs
would make the given equation correct?
Frfatea 9 9 -4 fog wWeR sge ¥ frefataa
HHIHTOT el T2

5+3 x8-12 +4=3

(a) —and + (b) + and X

() + and + (d) +and -
IF WATER is written as YCVGT ,
written as HKTG ?

Tfe WATER ! YCVGT & &0 ¥ fete <rem €, &Y HKTG
o &9 | o/ forar st ?
(a) REFI (b) ERIF

then what is

(c) IRFE (d) FIRE

Direction (20) : In the following question, two statements are given
followed by two conclusion | and Il. You have to consider the two
statements to be true even if they seem to be at variance from

commonly known facts. You have to decide which of the given
conclusions, if any, follow from the given statements.

fd9 (20)

: Trafeifas v9a ® S aaas & A Q@

Trpd 1 3iR 11 feu 7w €1 oUm WM A a6 STRX
TR WX ¥l aadel @t ugdel , 9cd HE Y Bl 3T 99
& T 3w o el A 4 wR-w, 9l 2 |, R
Feael A e 81

20.

21.

22.

Statements / dod :

I. Some keys are locks, some locks are numbers.
F9 =il dadl € $9 d §Ed 2

II. All numbers are letters, all letters are words.
it TEATd rer ¥, geft e1eR Wil ®
Conclusions / fT=Fd :

I. Some words are numbers.

FS Ieg T T

II. Some locks are letters.

et arel a1er €

(a) Conclusion I follows fT=rs 1 fererar ]

(b) Conclusion II follows fTsrd 11 freheran 2
(c) Conclusions I and II follows

et [ 3R 11 fehera ©

(d) None of the conclusion follows

g ot Frepd & Feperan

Four positions of dice are given below. Which
letter will be opposite to D ?

el T ot oR Rafaaf St T IR - AW D &
| B ?

Question Figures / Wy 3pfaar :

AR

(1) (2) (3) (4)
(@ B (b) C (0D @A
Identify the response figure in which the
figures given are found.

|
Question Figure / 997 3 :

(1) (2) (3) (4)

Directions (23 - 24) : In the following question, study the following
diagram carefully and answer the questions based on it.



e (23-24) :
&, 3H UX ST UL

Eiec ARG Hl SAFIES ST
ﬁ{q‘ngﬁﬁml

23.

24.

The diagram shows the survey on a sample of
1000 persons with reference to their
knowledge of English, Hindi and Marathi. How
many know all the languages ?

3G W 1000 AfFE & STt 31T et 3w wwat
aﬁawrﬁwaﬁqmwﬁwﬁmﬁw%l
faper T weft sy S 2

(a) 105 (b) 85 (c) 78 (d) 175

The diagram shows the survey on a sample of
1000 persons with reference to their
knowledge languages.

25.

2@ W 1000 =Afera= o SHent 3T, fewt i wet
aﬁmﬁ%weﬁqmmﬁw@rwﬁmw%l
105 e ferae T ST § 2

(a) Marathi, English (b) Hindi , Marathi

(¢) Marathi , Hindi (d) English , Hindi

A Piece of paper is folled and punched as
shown below in the question figures. From the
given answer figures, indicate how it will

appear when opened.
el W9 STERfaal B fE@TT 3THR ST ohl HISET B
TAT W o ST 98 TR ST ST ST feas & 2

Question Figures / W9 W&l ¢

P D) © 0 )
o © “ % P L: o| o
(1) (2) (3) (4)

GENERAL AWARENESS

26.

27.

28.

29.

30.

31.

Acceptable "Noise Pollution Level " in India
range between :

O U TteRrd ¢ eaf™ JguuT W' @t W g

(a) 16 - 35 dec (b) 40 - 45 dec

(c) 70 - 100 dec (d) 10 - 15 dec

Who was not a pollitician ?

Frefafaa o & S aosifag T e ?

(a) L K. Gurjat (b) S.L.Bahuguna

(c) J. Jayalalitha (d) H. N. Bahuguna

Who gave the title of "Mahamana" to Madan
Mohan Malviya?

TS WIgT HIeTa e hl  WETHAT' ' Shi Ugal fehe & ofi?
(a) Dada Bhai Naorgi

(b) Gopal Krishna Gokhale

(c) Mahatma Gandhi

(d) Bal Gangadhar Tilak

Who described the Government of India Act,
1935 as a new charter of bondage ?

WA GYehR SAATTAH, 1935 i ST BT TIT IO U
e et o ?

(a) Mahatma Gandhi (b) Rajendra Prasad

(c¢) Pt. Jawaharlal Nehru (d) B. R. Ambedkar
Endosulfan spray on cashew crop resulted in
the pollution to the tune of tragedy in :

H A BT W TEHEHT & (ST & heawa
o WX Tk WGWUT & T T ¢

(a) Kerala (b) Andhra Pradesh

(c¢) Karnataka (d) Tamil Nadu

"Functional Finance" is associated with :

32.

33.

34.

35.

36.

37.

* thegTeT (WSt ) TTea’’ Heited § :

(a) Adolph Wogner (b) Adam Smith

(c) Adams (d) Adbba 'P' Lerner
"Farad" is the unit of :

"y’ feRaent geRTS §7

(a) Capacitance (b) Inductance

(¢) Resistance (d) Conductance

Which of the following is an impact printer ?
Trfafaa # @ se-ar swee fiiet g ?

(a) Ink - jet printer (b) Bubble - printer
(c) Laser printer (d) Daisy printer

The percentage of nitrogen present
ammonium sulphate is :

in

TR Tethe | Hie ATEE e W ufae §
@) 27 % (b) 25%
(©) 30.5% (d) 18 %

Identify the odd term amongst the following

group :

Frefafaa o & faum g ggenfo :

(a) Optical fibre (b) Twisted pair wire

(¢) Microwaves (d) Coaxial cable

In which part of the Indian Constitution, the

fundamental duties are enshrined ?

;ﬂ#\'&rw%r%méaﬁw O B U st frgifia fere e
?

(a) IVA b)IVB @V (@1

Of the following land uses, which is restricted

to Special Economic Zones ?



38.

39.

40.

41.

42.

43.

44,

Frefaraa g wanm § § s-a1 fawm st e
e "t ¢ ?
(a) Educational Institutions/S\f&rF FEM
(b) Free trade Centres/qe ATAR EE
(c) Maraketing Centres/frqur E3
(d Information Techonology Companies/¥=1 Hrenfirent
e
The eastward continution of the Brazil current
is called :
FTSHeT 8T % gel 31T Sefd W i Hgd ¢ :
(a) South Atlatic drift
(b) Counter Equatorial drift
(¢) West Atlantic drift
(d) North Atlantic drift
Communication satellites are used to :
HIR SUTEL T YT fwmam Jrar &
(a) receive communication signal only
Fae TER Hohd WA A & forg
(b) receive and redirect communication signal
TER Heohd I T SR gH: e & faw
(c) Provide information of natural resources only
el TTehider TEEMAT i STMeR &4 & forg
(d) transmit communication signal only
Fael TER Hohd AT A & fau
What is the first sermon of Buddha called as ?
TG & TUH YT o el AT 8
(a) Brahamajalasutta (b) Dhammachakkapabatt
(c) Kachchayanagottasutta (d) Mahaparinirvansutta

The vacancy of the office of the President must
be filled within :

Ut & ug st Rifer sraver 9=t &t §......... 6
(a) 6 months (b) 12 months

(¢) 1 months (d) 3 months

Non Resident Indians (NRI) Day is marked on :
sframelt sTefrer (weTTR ) Ry e foram T &
(a) 9 January (b) 17 January

(c¢) 19 January (d) 7 January

Blood is a :

TR :

(a) Connective tissue / TS Hash

(b) Epithelial tissue / 3qchell 3dh

(c) Muscular tissue / 9319 Sdeh

(d) Reproductive tissue / ISIh Sdeh

The natural disaster in which carbon-di-oxide

suddenly erupts from a deep lake water is
known as

45,

46.

47.

48.

49.

50.

TRt s foed el she F S § wreE-an
ATFATSE WEdT Tt & , ATl § :
(a) Lacaustrine / W& (b) Fluvial / 7e1d
(¢) Glacial / feae™ (d) Liminic / fafi=er
Steel is more elastic than rubber because it :
A , g A AU Jeameer & Sifes
(a) requires larger deforming force

a1 ek fowTo s =g
(b) Is never deformed

wa &t faefya =& 2
(c) Is deformed very easily

et e 4 foeftd @ S @
(d) Is harder than rubber

A, We ¥ s Her
From which of the following banks did Madan
Mohan Malaviya take loans for financing "The

Hindustan Times" ?

e Higs ATeretar 3 fégear =g ' st srefeawen &
ot frefatea & 9 fog s @ ot forem o ?

(a) Punjab National Bank

(b) Bank of Maharashtra

(¢) Bank of Baroda

(d) State Bank of India

Which of the following is an endemic species ?
Trrefafaa o | s-ar e s g ?

(a) Horn bill / &9 (8 faa)

(b) Indian Rhino / Rd™A e

(c¢) Pink head duck / ﬂﬂﬁﬁ MY I

(d) Nicobar pigeon / IBEEIE ]

Which of the following is not a factor of
production ?

Freferaa o @ I 3UTET T Ueh ek T8l § ?

(a) Land / ‘{ﬁ:l (b) Organization / €73
(c) Captil / ﬁsﬁ (d)Technology / Tttt
As income incress the demand for inferior
goods

T ¥ e B W Frgre aegedt @ AiT-----

(a) Increase / 9¢ Skl %

(b) Remains constant / f&ora &t 2

(¢) Fluctuates / 3% &1 St @

(d) Decreases / &H KESIG %

Quo-warranto means

Hi-arST wT AL T :

(a) Without authority / TN

(b) With what authority / et

(¢) A warrant / T R

(d) Petition / ATfereht

QUANTITATIVE APTITUDE



51.

52.

53.

54.

55.

56.

57.

A trader marked 25% more than cost price of
an article, but allowed a discount of 16% on
marked price. The profit is-

T AR Tk 9] o d ToT ° 25% Nfaeh 3iferd
AT §, TG T 16% TR I T AT §1 T §—

(a) 8% (b) 4% (c) 6% (d) 5%

The marked price of an article is Rs. 600. A

discount of %% is allowed on the marked
price and a profit of 25% is made. The cost
price of the article is-

Teh %] T Hohd ToA 6. 600%|2?5%Q?31‘1%—Tcr1ww

aﬁ;ﬁ%mzs%wm@m%nmwmww

(a) Rs. 500 (b) Rs. 450 (c) Rs. 420 (d) Rs. 400

The vessels A and B contain milk and water
mixed in the ratio 7 : 6 and 9 : 4 respectively.
The ratio in which these two mixture are

mixed to get a new mixture containing 800 %
milk is-

TS H AAT Z SR AT T ST T 7:6 TAT9: 4
¥ 3T o W @ fRE egu # faeman ww At
wiffies fistor # ger 81(;0 %, B

(a)2:3 b)1:4 (@©3:2 (D1:1

If 3A = 2B = 5C, then A: B : C is-

(a)6:15:10 (b)10:15:6
(c)6:10:15 (d10:6:15

A and B can do a piece of work in 18 and 15
days respectively. If A starts the work and
works for 6 days and remaining work is done
by B, then time taken by B is-

A 31 B et sl ot shmoT : 18 79T 15 T § s wehd
219 A T TR AT § 3R 6 a7 qoh i war §
%ﬁ'{ﬁﬂaﬁlﬁ B 5T femalt ST €, A1 B g fore wrerm woer
(a) 10 days (b) 8 days (c) 12 days (d) 9 days
Pipe A can fill a tank in 20 minutes and Pipe B
can empty it in 15 minutes. If tank is half filled
and both pipe are opened, then find the time
in which tank is empty.

UIET A Ueh 3 ohl 20 TH9E o W Aehar & iR UEU BS®
15 fie & @reft X |amdt 3] afg 3 TeT W AT ¥
3R A1 UiET ot G U &, A Sk T Wiet G W T
O & -

(a) 30 minutes (b) 35 minutes

(¢) 40 minutes (d) 25 minutes

If a train is travelling at 54 kmph, then time
taken by train to cover a distance of 3.6 km is-
TfE Tk YerrEt 54 farft, wfa serat nfa A ST @Y, @
3.6 o, =it ot =l 9 & o foram e EuT § -

(a) 6 minutes (b) 5 minutes

(¢) 3 minutes (d) 4 minutes

58.

59.

60.

61.

62.

63.

64.

65.

66.

67

Two cyclists start from the same place in
opposite directions. First goes towards North
at 28 kmph and the other goes towards South
at 10 kmph. Time taken by them to cover a
distance of 47.5 km is

T ATSfehet wITeTeh Wah &1 T & faudia fegmsi ¥ wer
T I ¥ Ugen TR fa9r st ofiw 28 feormht. yfer st
31 TE ferot favm it 31 10 Tt ufa ser st e &
G %|47.5 feret ot =t T T ® S9Teh g e e
T -

(a) 60 minutes
(c) 90 minutes

(b) 65 minutes

(d) 75 minutes

If the compound interest of a sum of amount is
Rs. 4347 in 2 year, then which of the following
is true.

Tfe feret YT o TN AT SIehdfeg SATST 2 T6F W . 4347
g, @ e o | -1 e 8

(a) Rs. 20000, 7% (b) Rs. 30000, 7%

(c) Rs. 25000, 8% (d) Rs.35000, 3.5%

The remainder is 45, when a number is
divided by 500. What will be the remainder
when the same number is divided by 125?

w& foreit W = 500 | fawfsa fear S &, o
YIRS 45 AT &1 ST& 3G §E&AT i 125 | 9T fowarm
AT &, T Pvhet feher=T B9 2

(a) 90 (b) 45 (c) 27 do
Find the sum of the following series?
T sjge =at IhT AT ity ?

111
L,—,—,-———
2 48

(a1 (b) 2 (©3 (d) 5
ifa? + b2 = 10 and ab = 3, then b - a is-
(a) +3 (b) +1 (c)t4 (d) £2
Ifx + i:8, then the value of x?2 +Eis—

X xz

(a) 62 (b) 56 (c) 60 (d) 64

If sec 300° = x, then the value of x is-
-2
(a) -2 (b) 2 () —= @1
V3
11n) .
If cos |- 6 = x, then the value of cos x is-
V3 2 V3

a) —— b) — c) -2 d) —

(a) > (b) Ve (0 (d) 2

The slope of the line passing through the
\

, then x is-

ll

(7,- 2) aﬁ‘t(x,l)ﬁgmﬁm?»ﬁi'@wwﬁv(—f—o\ %,

AT x T A 8-

The distance between the points (11, - 5) and
(k,0) is 13, then K is-

g (11,-5) M (KO)F AT gt 13 8, MKER

(a) 1,23 (b)-1,23

points (7,-2) and (x,1) is (—13—0



68.

69.

70.

71.

72.

()-1,-23
In a rhomous
Te Auegds o
(a) Opposite angles are supplementary

fomia o1 SR 2 2
(b) Diagonals form two congruent triangles

Tt <1 @ Bryst & ©
(c) Diagonals are congruent

ferepot Tma 2 @
(d) Diagonals do not bisect opposite angles

foramot foreRia ol =l &1 SRR 9l & T sfed 7
The length of a rectangle is 5cm greater than
its width and its area is 150cm 2. The permeter
of the rectangle
Teh I it HaTE SHT =gk ¥ 5 A, 3rferes § 3i
THRT YTHeT 150 FHt. 2 §1 7 o1 TR &-
(a) 70 cm (b) 50 cm (c) 60 cm (d) 40 cm
Find the lateral surface area of a triangular
prism with bases edges 3 cm, 4 ecm and 5 cm
and altitude 8 cm.
3 [T, 4 Q. 3T 5 Y. TR q2AT 8 WY, I=AE AT
PR e &t a3k U Qe AT ity 2
(a) 48 cm? (b) 64cm?  (c) 80 cm?
(d) 96 cm?
An angle is smaller than its supplementary
angle by 66°. Then angles area-
Teh ShIUT 30 3TTUTeh ShIUT st G | 66° BIET Bl
T YU T W §—
(a) 57°,123°
(¢) 55°,125°

(d)1,-23

(b) 60°,120°
(d) 55°,121°

Two fractions are such that their product is %

and their sum % Then frictions are

aﬁfmwm%ﬁsmm% iR =T

ar R &1 HE R
(a)4/59/8
(c) -4/5,9/8

40

(b)-9/84/5
(d) -9/8 ,-4/5

Directions (73-75) : The pie-chart given below shows the usage of

materials in a construction of a house. Study the chart and answer
the questions.

73. The

of
construction of a house.

X & THET0T W YaRT SOt Rl WTa9Td STd Shifeg ?

percentage steel used in

(a) 10 (b) 12 (c) 20 (d) 36

74.
construction is-

ST A o Praton e < i s €21

T STFUT § ?

(a)3:4 b)2:3 @4:3 (@@2:5

75.
used in

and Miscellaneous items

construction is-

Trrator & yeyert gauma, Wit iR fafasr wai o wfagmal &t

a1 KT ?

(a) 10% (b) 25% (c) 20%  (d) 35%

ENGLISH LANGUAGE

Direction (Qs.76 — 78): In the following questions, some part of the
sentences have errors and some are correct. Find out which part
of a sentence has an error and blacken the oval [- ] corresponding
to the appropriate letter (a), (b), (c). If a sentence is free from error,
blacken the oval corresponding to (d) in the Answer Sheet.

76.

77.

78.

Outside, the rain beats down (a) / in floods and the sea
gives forth (b) / a sound like an alarm bells. (¢) / No
error (d)

I never saw (a) / him since that (b) / unfortunate even
happened.(c) / No error. (d)

He was the most (a) / eloquent speaker (a)/that I ever
heard. (c) / No error. (d)

Directions (Qs 79-81):The sentences given with the blanks are to
be filled with an appropriate word(s). Four alternatives are
suggested for each question . Choose the correct alternative and
indicate it by blackening the appropriate oval in the Answer Sheet.

79. I hope you know that, once you have signed

the contract, you will not be able to

(a) back in (b) back out
(c) back up (d) back at
80. Could you — twenty copies of the
agenda?
(a) run off (b) run on
(¢) run down (d) run out

81. Walking through the jungle, he on
snake.
(a) tread (b) trode
(c) trodded (d) trod

Directions : In question no. 82, out of the four alternatives, choose

the word which best expresses the meaning of the given word.

82. Emancipate

(a) Sober (b) Gullible (c) Raise (d) Liberate

"3y

the

The ratio of cement and bricks used in the

The average of percentage of Steel, Cement
the



Directions : In question no. 83, out of the four alternatives, choose
the word opposite in meaning to the given word.

83. Treachery
(a) Betrayal (b) Muling
(c) Loyalty (d) Rebellion
Directions : In question nos. 84, four words are given in each
question, out of which only one word is spelt correctly/wrongly

out of them. Find the word spelt correctly/wrongly and mark your
answer in the Answer Sheet.

84. (a) Ajournment
(c) Ajornment

(b) Adjournmant
(d) Adjournment

Direction : In Question nos. 85 to 87, four alternatives are given for
the Idiom/Phrase in bold in below sentences. Choose the
alternative which best expresses the meaning of the Idiom/Phrase
and mark it in the Answer Sheet.

85. A Man of letters

(a) Letter writer

(c) Postman

Fish for something
(a) Try to get something
(b) To become impatient for something

(c) Preferable to something

(d) Responsible for something

Go belly up

(a) Go away (b) Go to blazes
(c) Go through the process again

(d) Go bankrupt

Direction (Qs. 88 — 92): In the following questions, a part of the
sentence is underlined. Below are given alternatives to the
underlined part at (a), (b), (c) which may improve the sentence.
Choose the correct alternative. In case no improvement is needed
your answer is (d). Mark your answer in the Answer sheet

88. Novak Djokovic, hits the ball harder than John
Isner, can’t he?
(a) can he
(c) doesn’t he

(b) Proof reader
(d) Scholar
86.

87.

(b) do he
(d) No improvement

89. Uneasy lies the head which wears the crown
(a) who (b) that
(¢) what (d) No improvement

90. The cities are bursting on the seams with
people.

(a) bursting on seams (b) bursting at seams

(c) bursting at the seams  (d) No improvement

You should need my help, please feel free to
tell me.

(a) If you are in need (b) In case you need

(c) Should you need (d) No improvement

The ban of late night musical programmes
have been lifted temporarily.

(a) have been temporarily lifted

(b) have been lifting temporarily

(c) has been lifted temporarily

91.

92.

(d) No improvement

Direction (Qs.93 to 96): In the following questions, out of the four
alternatives, choose the one which can be substituted for the
given sentence.

93. Chief of a group of workmen.

(a) Chieftain (b) Engineer

(¢) Foreman (d) Middleman

Bitter quarrel between two families existing
for a long period.

(a) Siege (b) Feud (c) Battle (d) War
Animals without a backbone.

(a) Marsupials (b) Mammals

(¢) Vertebrate (d) Invertebrates

94.

95.

96. One filled with excessive and mistaken
enthusiasm
(a) Martyr (b) Pedant

(d) Patriot

Direction (Q. No- 97 - 100) : In these questions, A passage is given
with 4 question following it. Read the passage carefully and
choose the best answer to each question out of the four
alternatives.

(¢) Fanatic

Modern civilisation is completely dependent on energy,
which has therefore to be abundant and also economical.
About 85% of the world’s energy is supplied by oil, coal and
natural gas while nuclear, hydro, wind and solar power and
biomass supply the rest. Coal, nuclear and hydro are used
primarily to generate electricity while natural gas is widely
used for heating. Biomass is used both for heating and
cooking. The wind and solar power is the future’s hope as
they are sustainable energy sources. Oil powers almost all
machines that move and that makes oil uniquely versatile.
Oil powered airplanes carry 500 people across the widest
oceans at nearly the speed of sound. Oil powered machines
produce and transport food. Oil powered machines are
ubiquitous. Clearly, we live in the age of oil but it is drawing
to a close. According to data available if oil production
remains constant until it’s gone, there is enough to last 42
years. Oil wells will produce less as they become depleted,
which will make it impossible to keep production constant.
Similarly natural gas and coal will last another 61 years and
133 years respectively. Naturally, as they become scarce,
they become expensive, leading to a worldwide energy crisis.
If we are to survive on this planet, we have to make a
transition to sustainable energy sources. The transition may
be willy-nilly or planned the choice is ours.

The dawning era of limited and expensive energy will be
very difficult for everyone on earth but will be even more
difficult if it is not anticipated. It is of utmost importance that
the public and policymakers understand the global energy
crisis and act in tandem to ensure that the species homo
sapiens’ does not become extinct.

97. The theme of the passage is
(a) Changing Lives (b) Looming Energy Crisis
(c) Energy Resources



(d) Power in Today’s world

98. Biomass is an energy source used in
(a) agriculture (b) industry
(¢) homes (d) offices

99. The energy sources of the future are
(a) nuclear and hydro power
(b) coal and natural gas

(c) wind and solar power
(d) oil and biomass
100. The survival of mankind will depend on
(a) maximum use of available energy resources
(b) transition to sustainable energy resources
(c) regulation placed on energy consumers
(d) keeping the level of energy production constant



